
Stokes Theorem
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Parametrize BS by r⃗ptq “ xxptq, yptq, zptqy, a ď t ď b.

Parametrize S by R⃗pu, vq “ xxpu, vq, ypu, vq, zpu, vqy, zpu, vq P

D.



#1

F⃗ “ xz2, ´3xy, x3y3y

S : z “ 5 ´ x2 ´ y2 abovez “ 1

Find
ĳ

S

∇ ˆ F⃗ ‚dS⃗.

More details.

https://www.desmos.com/3d/svgzndhidk
https://tutorial.math.lamar.edu/Classes/CalcIII/StokesTheorem.aspx


#5

F⃗ “ xy ` sinpzq, z2 cospyq, x3y.

C : xcosptq, sinptq, sinp2tqy for 0 ď t ď 2π.

Find
ż

C

F⃗ ‚d xry.

https://www.desmos.com/3d/jbvdggdj7j

